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1 1 “1- lbyte
2 3 2 “71=

“21~ 2byte

4 1 “0~ JIS
“0~ 10byte

5 14 10 “000~
15 54 40 40byte
55 58 4 4byte
59 62 4 4byte
63 77 15 15byte
78 80 3 3byte
81 95 15 15byte
96 1 ! 2
lbyte
97 103 7 70~ 7byte
104 120 17

1 1 “2= lbyte
2 5 4 4byte
6 20 15 15byte
21 23 3 3byte
24 38 15 15byte
39 42 4 4byte
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51 80 30 30byte o
81 90 10 “0~ 10byte o
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112 1
lbyte
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8 19 12 “0~ 12byte o
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2 3 2 “91~ 2byte

4 1 “0~ JIS
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5 14 10 “000~
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63 77 15 15byte
78 80 3 3byte
81 95 15 15byte
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lbyte
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1 1 “27 lbyte
2 5 4 4byte
6 20 15 15byte
21 23 3 3byte
24 38 15 15byte
39 42 4 4dbyte
43

lbyte
44 50 “0~ 7byte
51 80 30 30byte
81 90 10 “0~ 10byte
lbyte
92 111 20 =0~ 20byte




112 1 “0~ lbyte
113 120 8
1 1 “8~ lbyte o
2 7 6 “0~ 6byte o
8 19 12 “0~ 12byte o
20 25 6 “0~ lbyte o
26 37 12 “0~ 12byte o
38 43 6 “0~ lbyte o
44 55 12 “0~ 12byte o
56 120 65
1 1 “9~ lbyte o
2 120 119
<0~
<=
<5=
112 1 “3”
<g-
<g-
lbyte
20 25 6 “0~ 6byte
26 37 12 “0~ 12byte
38 43 6 “0~ 6byte
44 55 12 “0~ 12byte
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